
HUB CAP W/ SIDE PLUG Standard 6 Bolt hub caps
5/16" bolt x 5 1/2" bolt circle

PART # ITEM Die-cast aluminum body
FW4009 Hub Cap with Side Plug Clear polycarbonate lens

FW4009P Hub Cap w/o Side Plug - Polished Vented center fill pug
   Standard Hub Cap with Side Plug FW4009G Hub Cap - Gasket Replaces Stemco # 343-4009

                                                                            Gas ket                     Polished Hub Cap   

PROPAR HUB CAP Thread size 6 1/4" - 8 TPI
Clear polycarbonate body

PART # ITEM Vented center fill plug & 
FW4020 Propar Hub Cap O-ring included
FW4001 Hub Cap Vented Plug
FW4021 Hub Cap O-Ring                                                         Vented Plug                          O-Ring

STEER AXLE OIL CAPS 5/16" bolt x 4 1/2" bolt circle
Aluminum 

PART # ITEM Replaces Stemco #340-4024
FW4024 Steer Axle Oil Cap w/o Side Plug

5/16" bolt x 5 1/2" bolt circle
PART # ITEM Aluminum 
FW4095 Steer Axle Oil Cap with Side Plug Replaces Stemco #340-4095

5/16" bolt x 5 1/2" bolt circle
PART # ITEM Aluminum 
FW4249 Steer Axle Oil Cap with Side Plug Replaces Stemco #340-4249

OIL CAP PLUGS

PART # ITEM Replaces: Stemco 359-5984
FW-5984 ⅜" NPT Magnetic Drain Plug

PART # ITEM Replaces: Stemco 359-5915
FW-5915 ¾"  Red Plug only 

PART # ITEM Replaces: Stemco 359-5915
FW-5990 1 ⅟₈"  Red Plug only 



                                 DUST SHIELDS FW-600: Trailer Dust Shield (Merritor Style) Used on trailer axle with fabricated spiders

FW-601: Drive Axle Dust Shield Used on 16 1/2" x 7" P and Q brakes

PART # ITEM FW-602: Trailer Axle Dust Shield used for 16 1/2" Brakes - 5" Axle dia. Intraax/Vantraax

FW-600 Trailer Axle Dust Shield - Meritor (replaces E9095) FW-607: Trailer Axle Dust Shield Used on 16 1/2" P brakes with cast spiders

FW-601 Drive Axle Dust Shield (replaces 33-1487, A1-3236) Packaging: Sold in quantities of 10 per box

FW-602 Trailer Axle Dust Shield (replaces E-11907)

                     FW600 FW-607 Trailer Axle Dust Shield  (replaces E886)

          FW601                                                                 FW602           FW607

                                    WHEEL GUARDS

The Wheel-Guard Separator Plate is approximately .040" thick. 
It is placed between the hub or drum and the wheel,
and/or between two wheels in dual applications
Both aluminum and steel wheels can benefit from the Wheel-Guard.
Packaging: Sold in quantities of 100 pieces per box

BOLT BOLT
FW# CIRCLE HOLES DESCRIPTION REPLACES

FW-5901-WG 11 ⅟₄" 10 X ⅞ , 10 X 1 ⅛ Stud - piloted Accuride 590-1
FW-5902-WG 11 ⅟₄" 10 X ⅞ Stud - piloted Accuride 590-2
FW-5903-WG 285.75mm 10 X 22mm Hub-piloted Accuride 590-3
FW-7381-WG 335mm 10 X 22mm Hub-piloted ISO Euro mount Accuride 738-1
FW-7902-WG 225mm 8 X 22mm Hub - piloted Accuride 790-2


